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‘ Paper Code 2022 (2"-A) th Roll No.__ ﬁéf
INTERMEDIATE PART-II (127 CLASS)
] Number: 447 1 :
PHYSICS PAPER-II TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D, The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve gquestion on
this sheet of OBJECTIVE PAPER.

().No.1
(1) One electron volt is equal to:
(A) 1.6 x 1071 (B) 1.6 % 10%% 7 © 161077 D)y16x107""7
(2) If the distance between the two charged bodies is halved the electric force between them becomes:
{A) Doubled {B) Half (C) Four times (D) One fourth
(3) Kirchhoff"s first rule is the manifestation of law of conservation:
(A) Mass {(B) Energy (C) Momentum (D) Charge
(4) The formula for magnetic field due to a solenoid is given by:
(A) pol (B) pynl (C) NI D) pont
(5)  The number of electrons in CRO is controlled by:
(A) X — Deflecting plates (B} Y — Deflecting plates (C) Grid (D) Filament
(6) Lenz's law is in accordance with law of conservation of:
{A) Momentum (B) Charge (C) Lnergy (D) Angular Momentum
(7) 8.1 unit of self inductance:
{A) Weber (B) Tesla (C) Henery (D) Farad
(8) Direct current cannot Now through:
(A) Inductor (B} Resistor (C) Transistor (D) Capacitor
)] In an A.C circuit with Resistor only, the current and voltage have a phase (angle) of:
(A) 0° (B) 1807 (C) 90° (D) 60°
(10)  Young's modclus for water is:
(A) 1 (B) Zero (C) 2 (™ 3
(11} A Photo Diode can tum its current ON and Off in:
(A) 107 (B) 107« (C) 107 (D) 1075
(12) The open loop gain of the amplifier is order of:
(A) 107 B) 10° (C) 10° (D) 10"
(13}  When a photon collides with an electron which of following of photon increase;
(A) Freguency (B) Wavelength (C) Mass (D)) Energy
(14) Wave nature of light appears in: ::;;
{A) Pair production (B) Compton effect (C) Photoelectric effect (D) lnterferenc{ i
(15) X —rays are similar in nature 1o 4
(A) »—rays (B) £ -rays (C) e —rays (D) Cathode rays
(16) ©Onea.m.u is egual to:
(A) 166 x 107 kg (B) 166 x 10" kg (C)1.66 x 107" kg (D) 1.66 x 107" kg
(17) By mass s;r}ectru :graph we can find the value of mass by using formula:
(A) m = {“"; JEE B} = [%JBE &) = [; |2 @ m- (gJB

19(Obj)(¥)-2022(2""A)- 292 (MULTAN)



i4)
Paper Code \ 2022 (2"-A) : Roll No. Q ./
| INTERMEDIATE PART-II (12" CLASS)
Number: 4473 ‘

PHYSICS PAPER-II TIME ALLOWED: 20 Minutes

OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which vou

Q.No.l

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(10}

(11}

(12)

(13)

(14)

(15)

(16)

(17)

think is correct, fill that bubble in front of that question namhber, on bubble sheet. Use marker
or pen to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in casc BUBBLES are not filled. Do not solve question on
this sheet of OBIECTIVE PAPER.

¥ — rays are similar in nature to:

(A) ¥ —ravs (B) [ —rays (C) a —rays (D) Cathode rays

One a.m.u iz equal to:

(A) 1.66 % 10 % ke (B) 1.66 x 107 kg (C)1.66 %10 kg (D) 1.66 x 107 kg

By mass specirograph we can find the value of mass by using formula:

(A) m= [ef’“g]az (B) m = |r£132 Cym=[Lle  @ym= [£\ A
v | 2¥ Al ar

One electron volt is equal to:

(A) 1.6x107° (B) 1.6 x 10777 (@ 16x107"%7 D) 1.6x107%

If the distarce between the two charged bodies is halved the electric force between them becomes:

(A) Doubled (B) Hall {C) I'our times {D) One fourth

Kirchhott™s first rule 1s the manifestation of law of conservation:

(A) Mass {B) Energy (C) Momentum (D) Charge

The formula for magnetic field due to a solenoid is given by:

(A) pol B) onl (C) gy (D) segnt

The number of electrons in CRO is controlled by:

{A) X - Defleciing plates  (B) Y — Deflecting plates (C) Grid (D)) Filament

Lenz’s law is in accordance with law of conservation of:

(A) Momentum (B) Charge (C) Energy (D) Angular Momentum

$.1 unit of self inductance:

(A) Weber (B) Tesla (C) Henery (D) Farad

Direct current cannot flow through:

(A) Inductor (B) Resistor (C) Transistor (D) Capacitor

In an A.C circuit with Resistor only, the current and voltage have a phase (anglc) of;

(A) 0° (B) 180° (©) 90° (D) 60°

Young's modulus for water is:

{A) 1 (R) Zera (C) 2 (D) 3

A Photo Diode can tum its current ON ond Off in:

(A) 1075 (B)10°s (C) 1075 (D) 1075

The open loop gain of the amplifier is order of:

(A) 10° (B) 10° () 107 (D) 10"

When a photon collides with an electron which of following of photon increase:

(A) Frequency (B) Wavelengta (C) Mass (D) Energy

Wave nature of light appears in:

(A) Pair production (B) Compton effect (C) Photoelectric effect (D) Interference
19(0b))( VX VX)-20222%-A)- 2§ g (MULTAN)
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Paper Code 2022 {2'“’-;51) Roll No. (/

447 S INTERMEDIATE PART-1I (12" CLASS)

Number:

PHYSICS PAPER-II TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and I. The choice which you
think is correct, fill that bubble in frunt of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that

guestion. No eredit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Direct current cannot flow through:

(A) Inductor (B) Resistor (C) Transistor (D) Capacitor
(2)  Inan A.C circuit with Resistor only, the current and voltage have a phase (angle) of:

(A) 0° (B) 180° () 907 (D) &0°
(3 Young's modulus for water is:

(A) 1 (B) Zero (C) 2 (D) 3
(4) A Photo Diode can turn its current ON and Off in:

(A) 107g (B) 10y (C) 107" (D) 10%s
(5)  The open loop gain of the amplifier is order of:

(A) 107 (B) 10" (C) 10° (D) 10
(6) When a photon collides with an electron which of following of photon increase:

(A) Frequency (B) Wavelength (C) Mass (D) Energy
{(7)  Wave nature of hight appears in:

(A) Pair production (B) Compton effect (C) Photoelectric effect (D) Interference
(&) X — rays are similar in nature te:

(A) y —rays (B) £ —rays (C) o —rays (D) Cathode rays
(%) One a.m.u is equal to:

(A) 1.66 x 107 kg (B) 1.66 x 107" kg (C)1.66x10%ke (D) 1.66 x 107 kg
(10) By mass spectrograph we cah find the value of mass by using formula: )

(A) mﬁf{*"z’"z B? (B) mzr‘”’z]aﬁ (ij{{’i].ﬂ (mm;ff.‘i.gjg

L2y L v are |\ 2

(11)y  One clectron volt is equal to:

(A) 1.6 10710y (B) 1.6 x 1079 4 (C) 1.6 107137 (D) 1.6 » 10*% 7
{12) 1f the distance between the two charged bodies is halved the electric force between them becomes:

(A) Doubled (B) Half (C) Four times (I3) One fourth
(13) Kirchhoff's first rule is the manifestation of law of conservation:

{A) Mass (B) bnergy {C) Momentum (D} Charge

(14}  The formula for magnetic field due to a solenoid 1s given by:
(A) (B) wpynl (C) ey NI (D) pynt
{15)  The number of electrons in CRO is controlled by:
(A) X — Deflecting plates (B) Y - Detlecting plates (C) Grid (D) Filament
(16)  lenz’s law is in accordance with law of conservation of:
(A) Momentum {B) Charge {C) Energy (D) Angular Momentum
“ Tunit of self inductance:
=1 (B) Tesla (C) Henery (D) Farad
19(Ob])( ¥ TXTE)-2022(2"-A)- 2 G (MULTAN)
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Paper Code 2022 (2™-A) Roll No. gl

4477 INTERMEDIATE PART-II (12" CLASS)

Numher:

PHYSICS PAPER-1I TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each ohjective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that guestion number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question, No credit will be awarded in case BUBBLES are not filled. Do not solve guestion on
this sheet of OBJECTIVE PAPER.

Q.No.l
(1) The formula for magnetic field due to a solenoid is given by:

(A) wyl (B) ponl (C) pgNIT (D) pyni
(2)  The number of electrons in CRO is conurolled by:

(A) X — Deflecting plates (B) Y — Deflecting plates (C) Grid (D) Filament
(3) Lenz's law is in accordance with law of conservation of:

(A) Momentum (B) Charge (C) Energy (D) Angular Momentum
(4]  S.[unit of self inductance:

(A) Weber (B} Tesla (C) Henery (D) Farad
(3) Direct current cannot flow through:

(A) Inductor (H) Resistor (C) Transistor (D) Capacitor
(6] In an A.C circuit with Resistor only, the current and voltage have a phase (angle) of:

(A) 0° (B) 180° €y 90° (D) 60°
(") Young's modulus for water is:

(A) 1 (B) Zero (C) 2 (D) 3
(8 A Photo Diode can turn its current ON and Off in:

(A) 1070 (B) 107 (Cy 1075 (D) 1075
(99 The open loop gain of the amplifier is order of:

(A) 107 (B) 10 () 10° (D) 10"
(10)  When a photon collides with an electron which of following of photon increase:

(A) Frequency (B) Wavelength (C) Mass (D) Energy
(11)  Wave nature of light appears in:

(A) Pair production (B) Compton effect (C) Photcelectric effect (D) Interference
(12) X —rays are similar in nature 1o;

(A) y—rays (B) f#=rays (C) a—rays (D) Cathode rays
(13)  Oneam.uisequal to:

(A) 1.66 % 10 kg {B) 1.66 x 10 Yig (C)1.66x 107 (D) 1.66 x 107 kg
(14) By mass spectrograph we can find the value of mass by using formula:

(e B ]Bz (B) m = [”‘JBE (C) m = (E—Z]B (D) m = rﬁ]a

2 2v 2% 2

(15)  One electron volt is equal to:

(A) 1.6 x 10717 (B) 1.6 x10MY (C) 1610718 (D) 1.6 % 10"

(163 If the distance between the two charged bodies is halved the electric force belween them becomes:
{A) Doubled (B) Half (C) Four times (D) One fourth
(17)  Kirchhofl™s first rule is the manifestation of law of conservation:
(A) Mass (B) Energy (C) Momentum (1) Charge
19(0bj)(P¥ T T V)-2022(2"-A)- 24 (MULTAN)



2022 (2"-A) Roll No: L@

INTERMEDIATE PART-II (12" CLASS) B

PHYSICS PAPER-II TIME ALLOWED: 2.40 Hours

SUBJECTIVE MAXIMUM MARKS: 68

NOTE: Write same question number and its part number on answer book,

as given in the question paper.

SECTION-I

2. Attempt any eight parts. 8 <2=16
(i) Does polarization of dielectric is possible without electric field? Explain.
(i)  On what factors. the energy stored in a capacitor depends?
(itf)  The potential is constant throughout a given region of space. Is the electrie field zero or non zero?
(iv)  Describe the force or forees or a positive charge when placed between parallel plates with similar
and equal charge. Explain your answer with diagram.
(v}  What will be change in magnetic field inside the solenoid if the length and current is doubled?
(vi)  How synchronization is possible in Cathode Ray Oscilloscope?
(vii)  Why the voltmeter should have a very high resistance?
(viil) Why does the picture on a TV screen become distorted when a magnet is brought near the screen?
(ix}) ~ What factors make a fusion reaction difficult to achieve (any two)?
(x) What do you mean by the term critical mass?
(xi}  Docs it possible to separate the isotopes of an elemeni by chemical method? Explain.
(xii) Why the element iron is most stable than all other elements?
£ Attempt any eight parts. dx2=16
(i) Is the filament resistance lower or higher in a 500 Wait, 220V light bulb than a 100 Watt, 220V bulb?
(i) Do bends in a wire affect its electrical resistance? Explain.
(i)  Defire temperature coefficient of resistance and also give its unit,
(iv)  Whatis meant by F.M and A.M?
(v} A sinusoidal current has rms value of 10A. What is its peak value?
{(vi)  Explain power factor.
(vil}  What is superconductor?
(viti) Differentiate between paramagnetic and diamagnetic material.
(ix)  Defire retantivity and coercivity.
(x) Write any two characteristics of operational amplifier.
(xi)  Why charge carriers are not present in depletion region?
{x11) The anode of the dicde is 0.2V positive with respect to its cathode, is it forward biased?
4. Attempt any six parts. 6x2=12
(i) The Lenz’s law is also a stateiment of law of conservation of energy. Explain,
(i1 Daes the induced e.m.fin a circuit depend on the resistance of the circuit?
Does the induced current depend on the resistance of the circuit?
(iii) Can a DC motor be turned into a DC generator? What changes are required to be done?
(iv) Write down four factors on which the mutual inductance depends.
(v) What happens to total radiation from a black body if' its absolute temperature is doubled?
(vi) s it possible to create a single electron from energy? Explain.
(vii}y  Prove thal the rest mass energy of an eleciron is 0,511 MeV,
(viii)  How can you prove that the electron can never be found inside of a nucleus?
(ix) What do we mean when we say that the atom is excited?
SECTION-IT
NOTE: Attempt any three guestions, Ix8=24
5.4a) Deline electric flux and find electric field intensity due to an infinite sheet of charge. 5
(b) The potential difference between the terminals of a batfery in open circuit is 2,2V, When it is
connected across a resistance of 5¢2, the potential falls o 1.8V, Calculate current and internal
resistance of the battery. 3
6.(a) Derive an expression for energy and energy stored in an inductor? 5
(b) Acollof (.1m x 0.1m and 200 turns carrying a current 1.0m4 is placed ina
unifarm magnetic field of 0.1 T. Caleulate the maximum torque that acts on the coil, 3
7.(a) Explain how n-p-n transistor can be used as amplifier.
Derive the expression for its voltage gain, 5
(k) What is the resonance frequency of a circuit which includes z coil of inductance 2.5H and
a cepacitance 40 u F 7 3
8.(a) Distinguish between intrinsic and extrinsic semi conductors. How would you obtain
n-type and p-type material from pure silicon, Illustrate by schematic diagram, 5
{b) What is the mass of 70kg man in space rocket travelling at 0.8C from us as measured [rom earth? 3
9.(a) What 1s radioactivity? Explain the nuclear transmutation. 5
(b) What is the energy in eV of quanta of wavelength of 400 nm? 3
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